FRIEBAVEAMIUER (FM4EESRD)

1/3 =y

XA, HERR U EERZBAILETT,

mB% Hif3 AL flfE E A
()

=B kg 808.00 |7V —L77v b ()
O kg 1,170.00 | (#8) =~ L Z
b [FHE] kg 888.00 |7V —L77v b ()
MR, FIFZ kg 1,375.00 |FHA ()
HH5<{H50g 1@ 3780 |7V —L77v b (#R)
NAT30g 12 44.30 | SEmSE
ESAHAEF LTF[EE] kg 788.40 | (Bk) =L Z
fLL & 5 AEMEY [FHE] kg 1,538.00 | (#%k) =~ L7
Ef3a—2 L b (1BFH)100g 1@ 46.70 | (kk) =¥ L7
1500 1.2kg P 929.99 |7V —L7 7y b (B)
BUWAIFAZKE[L bL K] kg 836.70 |7 U —L77v b ()

SAKE[L RV kg 500.00 |7V —L77v kb (%)
ELKE[EZR/N Y 7] kg 672.00| (%) =~ L7Z
BUWATAE~—Z MU kg 715302V —L7 7y b ()
ME (1 EA)40g 1& 3555 [P v/ 7 — K (#)
FCAFANE [L ML L] kg 1,542.24 | (#k) =~ L7
FLCAR=TE [L b K] kg 1,182.58 | HiA (#)
ST HIIkE9g [EfT] 12 15.30 |t (1)

(| 7V—La—v o 698.00 | (#k) =~ L7

(&) HhA & 1,260.48 |FHA (#)

(F|B) 734 > [/h7] i 998.70 | (¥k) =~ L Z
F-TE [L hLR] kg 590.00 | (#%8) =~ L7
TAFUVKE[L bILF] kg 1,782.00| (#80) =~ L7
BF—X[Fe- Cal(1&F)15g 12 3488 | (k) = L7
HEEW [(Hy ] kg 858.00 | (kk) =~ L Z
Whya—F+vy [5HE] kg 3,619.00 | (&%) =~ L7
BER[X 14 2] kg 1,291.58 |2 U —L 77 v b ()
ERAN ) kg 626.47 | (%) =~ L7Z
REE ] kg 1,324.24 | (#%8) =~ L7
F1F L AR kg 1,558.00 |FAtA ()
FLLWE kg 2,944.44 |2 w8 7 — K (¥R)
(#2) E<HIFE [HaY] kg 2,285.73 |7 U —L 77 v b (k)
EFL kg 1,496.98 | (k%) =~ L Z
DAY WY ZERE kg 3,996.00 | (&%) => L7
HYBAWY T BANE kg 6,334.21 |2V —L77v b ()
ETLH kg 1,779.00 | (#k) =~ L Z
o [72 L] kg 2,986.12 | (k) =~ L7
HOBE [FMRYA] kg 3,639.74 |2 U —L 77 v b (¥R)
HLER kg 3,605.00 | (k) => L7
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2/3 =Y

XA, HERR U EERZBAILETT,

mB% Hif3 gtﬁm E A
() Hho kg 7,652.00 |2V —L7 7y~ ()
(82) FOLZE kg 6,865.00 |7 U —L77v b ()
BEHREE [FHE] kg 3,347.65 | (k) =~ L7
Lz BHaMmE [GHE] kg 1,5676.80 | (]p) =~ L7
Biam Y M (Fe) (12 M) 5g 1& 1896 |7 U—L 77 vk (¥)
(82) HH kg 5,144.00 | v /3> 7 — K (#)
BUER kg 4,986.00 | (k) => L7
(82) HBX kg 7,588.00 | (k) =~ L Z
LZ 0L &E@EEFe) [GTE] kg 1,248.00 | (#8) =~ L7
0L =@z (Fe) (12 F)8g 12 38.90 |+ AA (#)
HtHLEA LW S (18MA)35¢ 1& 4222 | w7 —F (#)
B) FRELL»H12g 12 1413 (%) =~ L7
A) AETnA (K] kg 1,110.00 |27 U —L7 7 v b (k)
BINFETWA[EAFI30 g & 43.96 | (%) => L7
B TEZO[L] kg 1,426.80 |[FHA (#)
(%) S8 50¢ 1& 7155 [P v/ 7— K (%)
A) AETLA [HY)] kg 1,213.00| (#%80) =~ L Z
(s Famy) kg 836.00 | (Kh) = L7
&) A kg 1,376.99 |¥ ¥ /> 7 — K (#k)
A) R¥YIE50g 1@ 4527 (k) =~ L7
(%) FEEIH40g 1& 39.93 [P v/ T7—F (#)
A REAY kg 928.00 | (%) => L7
(B)7 54 RRT b RITE] kg 355.00 [P v /87— K (%)
0B) E5NAE[KR—IL] kg 469.00 | (¥k) =~ L7
B) ERVAIITAIR Y] kg 32887 (k) =~ LZ
(&) F—a—v kg 315.00 [P v/ 7— K (%)
B NAZAETY kg 344.00| (%) = L5
(B TIES>&ans kg 33200 (k) => L7
%) TIESFIY kg 323.00 [P v/ 7—F (%)
B) ERVAITALAY K] kg 387.00 | (k) => L7
5) Ebhrolhy k] kg 1,29565 |7 U —L 77 v b ()
%) 7oy al— kg 52050 | (]R) =¥ L7
%) #nA (S) 12 3887 (]k) =¥ L7
&) LEVAYY —[5TE] kg 850.00 |7V —LZ77v kb (B)
(B EEEELITAETE] kg 1,709.00 | (#%8) =~ L7
(®) BEB kg 817.00 |+ A ()
) BRATERL N — kg 1,361.83 | (k) =~ L Z
(%) SIEFEKE6 0g 1& 9855 [P v/t 7 — K (#)
%) R¥75450¢ 1& 59.82 | AtA ()
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XA, HERR U EERZBAILETT,

mB% Hif3 AL flfE E A
()

(OB)RtE/ N> /=% [Ca-Fe] 60g 1& 5860 |7V —L77 vk (#)
B) BR—27Lw S EL18g 12 1730 |2U—L77v b (#)
(%) £x5& 18¢g 1& 1111 [P v/ 7—F (%)
B) XIEFEKE4 Og 1& 5888 [P v/ 7 —F (%)
(%) SIEHEMES50g 1& 88.00|7V—L77v bk (#)
(B) 2T 5%240¢ 12 67.00| (k) =~ L7
(B) @A N—260¢g 1& 38.57 |hAtA (k)

fmisE 0 — 2/ L (BmmATAR) kg 2,388.00 | (k) => L7

igE~N—O kg 2,424.00| (k) => L7

EES B kg 1,040.00 JARE I — b 7— X

MALERLLH kg 1,775.00 | (#0) Ehsh

WMAEED b AYIAN[40g5E] kg 1,765.00 | (¥F) &k Eh

EEFBA kg 2,660.00 | (#&) &% Eh

BUFLLH kg 2,740.00 | (%) l3%Bn

EEBRBA ke | 1,161.00 | (¥0) 1xksh

EEBRL LA kg | 1,156.00 | (¥F) lxHEh




